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PART A: Vocabulary |
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
ce. Then mark the correct choice on your answer sheet.

1-  Ancient alchemists believed that it was possible to .......... lead into gold.
1) mingle 2) direct 3) transfer 4) transmute

2-  Dan always beats me at chess because he develops such an ......... game plan that I can
never predict his next move,

1) eventual 2) ambiguous 3) elaborate 4) objective
3-  His election as President represented the .............. of his career.
1) summit 2) motivation 3) triangle 4) periphery
4-  She found the job frustrating, and felt she wasn’t ......... anything there.
1) flourishing 2) accomplishing 3} evolving 4) satisfying
S-  Britain’s ......... over its colonies was threatened once nationalist sentiment began to
spread around the world.
1) hegemony 2) preference 3) compromise 4) independence
6- He........... all of his success to his mother’s undying encouragement.
1) interprets 2) converts 3) attributes 4) results
7- Youcan.......... the flavor of most dishes with the careful use of herbs.
1) initiate 2) impress 3) precede 4) enhance
8-  The pirate Blackbeard had a reputation for being a harsh, .......... man.
1) reliable 2) ruthless 3) perpetual 4) prevalent
9-  Being a direct relative of the deceased, her claim to the estate was ............ ;
1) prominent 2) profound 3) legitimate 4) reckless
10- There are more than thirty species of rattlesnakes, varying in length from 20 inches to six
feet and also varying in ........... of venom.
1) domination 2) detection 3) conquest 4) toxicity

PART B: Cloze Test
| Directions: Read the following passage and decide which choice (1), (2), (3), or
|l (4) best fits each space. Then mark the correct choice on your answer sheet.

Football is (11) ....... ball game in the world and the most popular as a spectator sport.
The simplicity of the rules and the fact that it can be played practically everywhere

(12) ........ to this popularity. It is played on all continents and in more than 200
countries. At the 2000 census (13) ........ by the world governing body, the Federation
Internationale de Football Association (FIFA), (14) ........ some 30 million registered
players at all levels. In addition, there are (15) ....... casual players invelved in pickup
games in streets, on parking lots, on school playgrounds, in parks, and even, as in Brazil,
on beaches.

11- 1) played the most widely 2) the most widely played
3) played most widely 4) the widely most played

12- 1) has contributed 2} will be contributing
3) had contributed 4) will have contributed

13- 1) to be taken 2) was taken 3) that taken 4) taken

14- 1) which were 2) there were 3) they were 4) were

15- 1) many millions 2) many of millions
3) many millions of 4) many million
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Directions: Read the following three passages and answer the questions by

| choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on
your answer sheet.

Passage 1:

Achieving high productivity implies obtaining as much output as possible from a given number
of units of the factors of production. The three elements that influence productivity are capital,
technology and people.

Capital is very scarce in developing countries. Yet we find that most developing countries
have not utilized this scarce resource effectively. The incremental capital output ratios are
showing adverse trends in most developing countries. Developing countries have to make very
judicious use of capital. What needs to be dons is to identify those areas where applications of
capital intensive technologies yield higher surpluses which can then be reinvested to create
more employment. Another key decision that has to be taken is about the economic size in
volume somsitive areas. This is crucial as the market in many developing countries may not be
large enough to warrant very big establishments. Technology is fast changing. Innovations
have taken place in developing countries. We have had technology transfer but have not had
very good results in relation to productivity. It is necessary to have close interaction with
developed countries.

The third essential input which influences produetivity is the human resource. World over it
has been recognized that productivity through people is one of the attributes that characterizes
high achieving countries and companies. This is even more relevant in developing countries
where human recourse are abundant and wages comparatively lower.

In developing countries:

1) innovations should take place.

2) a place for innovations is being found.

3) innovations are new phenomena.

4) There have occurred innovations

"Capital is very scarce in developing countries' means:
1) land and techndogy are very scarce.

2) land, machine and money are very scarce in most of developing countries.
3) know-how and technology are very short in supply.

4) there is shortage of money and machine.

According to the passage, "scarce' means:

1) frighten 2) hard to obtain 3) short in supply 4) sufficient
According to the passage, "increment" means:
1) Increase 2) profit 3) Expand 4) Develop

According to the passage:

1) we should change our technology

2) Technology is changing and developing very smoothly.
3) Technology is changing and developing very quickly
4) we should immediately change the technology
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Passage 2:

Although variability alwats requires some kind of buffer, the effects can be mitigated
somewhat with flexibility. As a corollary, flexibility reduces the amount of wvariability
buffering required in a production system. It can be utilized through product, facility or process
design policies and vendor management. An example of flexible capacity is a cross-trained
workforce. By floating the operations that needs the capacity, flexible workers ean cover the
same workload with less total capacity than would be required if workers were fixed to specific
task. Another example of flexible inventory is generic work in process held in a system with
late product customization. For instance, electronic products which leaves off the region-
specific power connections, could be ordered to fill demand from any other region. As a result,
significantly less generic inventory is required to ensure customer service.

For flexible time, an example is the practice of quoting variable lead times to customers
depending on the current work backlog (i.e., the larger backlog, the longer the quote). A given
level of customer service can be achieved with shorter average lead time if variable lead times
are quoted individually to customers than if a uniform fixed lead time is quoted in advance.

What is the best title for the above text?

1) Flexibility 2) Buffering variability 3) Flexible inventory 4) Variability
What is the relationship between flexibility and buffering variability?

1) no relationship 2) reverse relationship 3) direct relationship  4) indistinct effect
What is most likely to be achieved if flixed lead times are quoted customers?

1) less backlog for works 2) Higher level of customer service

3) lower level of customer service 4) shorter average lead times
According to the text, "generic work'' means:

1) Total work 2) Customized work ~ 3) Specific work 4) Flexible work
The advantage of cross- trained workforce is:

1) Less total capacity

2) Less floating operations

3) Adjustable capacity

4) Covering the same workload as fixed workers

Passage 3:

Holding costs: The costs of carrying inventory being with the investment. Money tied up in the
acquisition of stock is prevented from earning a return elsewhere. This results in an opportunity
cost, which is normally expressed as a percentage of the investment. There is considerable lack
of agreement regarding the appropriate value of this percentage, but capital costs turn out to be
one of the most significant holding costs. The inventory investment mist be physically
accommodated. To the extent that storage costs are dependent on the quantity of goods to be
stored, such costs should be recognized. Higher inventory levels may create additional
warehouse ownership or rental costs. Materials handling efforts are likely to increase, either
because more shuffling is necessary or because goods must be stored at a greater distance from
their points of use. Higher stock levels usually increase either the risks of deterioration (unless
the stock is cheese or drink), obsolescence, and pilferage or the costs of reducing these risks.
Property taxes are frequently levied on inventories on hand on a given date or on the average a
time period.
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What is the best topic for the passage three?
1)Holding casts 2} the money. tied up the acquisition of stock
3) costs of higher inventory levels 4) Inventory control’s costs,

According to the passage three, which one of the following is one of the most important
costs of holding inventory?

1) storage cars 2) material handling costs

3) the capital costs 4) rental costs

According to the passage three, if you do not have high level of inventory, you not have:
1) more shuffling 2) decrease in your risk of deterioration

3) less quantify of goods 4) shortage costs

What is an opportunity cast?

1) the cost of carrying inventory.

2) the invested money in stock is prevented from earwig elsewhere.

3) the costs of having higher inventory levels.

4) the cost as a percentage of investment.

regarding to which of the following there is disagreement?

1) regard to property Taxes consideration.

2) regaed to the exrent that storage costs are dependent on the quantify of goods.
3) regard to the percentage of the investment as an opportunig cost.

4} regard to increasing the materials handing efforts.
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